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I, = 0.7lg = 8.75 x 10® mm*
I, = 0.35Iy, = 5.04 x 10° mm*
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I.. 875x108 8.75x 108
_2() o000t~ 7700 _ 0.48
Yo 5 (e 5.04 x 10° '
L 9000
1+ 0.48
Y =y — =074
Vimin = V¥p = 0.48
K=0.7401ly_ =0.77<1.0
K = min m
K=0.85+0.05y_,_ =087 <10
K=077>06+V
v, =10 YL 5l
I.. 875x108
_XD _T7200  _ 46
Ve I,, 5.04x10°
X7 e
0.18 + 0.48
Y, == =033
Viin = Ve = 0.18
K=0.7+01ly_ =0.73<1.0
K = min m
K=0.85+0.05y_._ =086 <10
K=073>06 V
1S EY o
el 2 USO8 Sl Sl s Y s -
L,=6—-06=54m
K =0.77 N
r=0.3h = 0.3 X 350 = 105 mm -
K.L, 0.77 x 5400 _ 20.6 < 100
r 105 -
Kebu _ 39.6 > 34 12M1 =34 12( 52'1)— 38.8
r 7 M, 130.5/ T
Sl 2N O g
L,=72-06=66m
K =0.73 o
r=0.3h = 0.3 % 350 = 105 mm
K.L, 0.73x6600 45.9 < 100 +
r 105 I U
Kebu _ 459 > 34 — 12 My _ 34 — 12 (70'7) =25
ro M, 94.6)
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MC = ab.Mz
C
6b = mP
1———u_
0.65P,

:CD 0 g
M,
Ch =06+ O.4(M—) > 0.4
2

C —06+04< 52'1)—044>04x/
mo ' 1305/ T 7

El, = 0.25EI,
E. = 5000,/f. = 22913 N/mm?
El, = 0.25Ecly = 0.25 x 22913 x 1.25 x 10° = 7.16 x 10'? = N.mm?

2. El, _ ¢ x 7.16 x 1012

Pe = RL2 = (077 x 5400) * 1073 = 4087.4 KN

0.44
8, = — T =0.68 < 1.0
0.65 x (4087.4)
51) =1

el b BB 55 ob S O g 4 b gy e Dl Gy b 510 g aomis
MC = ab.Mz S MZ
: Mmin L'MZ djvf

Mypin = P,.€min = B,. (15 + 0.03R) = 605.5(15 + 0.03 x 350) = 15440 KN.mm
My = 15.440 KN.m < M, = 130.5

b ol
M, =M, = 130.5KN.m

:DE O gt
M,
Cm = 0.6+ 0.4(—) = 0.4
M,

C —06+04<+70'7)—0899>04
mo ' 946) T T

El, = 0.25El,
E. = 5000,/f. = 22913 N/mm?
El, = 0.25E.l; = 0.25 X 22913 x 1.25 X 10° = 7.16 x 10! = N.mm?

2. Ele  m x7.16 x 10"

P, = = x 1073 = 3044 KN
¢ T (KL)?  (0.73 X 6600)2
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0.899

5, = , 35— = 111<10

T 0.65 x (3044)
5, = 1.11

:Mmin lJ1\/[2 Jj«s
Mopin = P, €min = P,. (15 + 0.03R) = 371.8(15 + 0.03 x 350) x 1073
=948 KN.m

Mpn = 948 KN.m < M, = 948 KN.m
M, =68,.M, = 1.11 x 94.8 = 105 KN.m

:CD g b
P, = 605.5 KN
P, = 130.5 KNn
B, 605 x 103
0o fob.h 0.6 x 21 x 3502
M, 130.5 x 10°
0o fo b2 0.6 x 21 x 3503
h—2d 350—2x 50
y = A = 350 =0.71

= 0.39

= 0.24

s ud o sl (1 Y5 O b e
y =0.7 up = 0.75
y =0.71 up =7
y =0.8 up = 0.62

¢ =p.b.h =0.023 x 350% = 2844 mm?
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f. =30 N/mm?
fy =400 N/mm?

500

0-0-6-6-6
©0-6-6-G-0

tK e sk b aloe

K=1 J}Jdﬂw;jbji\j‘jﬁ‘)\f@&ﬂ)}b‘bk)}f.’u&‘? 0.5<k<1 A&b@adﬁ)\.@.ﬁuudﬁ

K.L M
L<34-12—2
T M,
r=0.3h = 0.3 X 500 = 150
L, = 5000 mm
K.L, 1x5000 23 < 100
r 150
KLy 34 12M1 =22
MC = Sb.Mz
_ m
5, = —
(pn'PC
Cp =1
¢, = 0.65
2, El,
p=—"°%
(K.Ly)?

El, = 0.25E..1,
E = 5000,/f. = 27386

1
- x 4 -591 %102 4
I 12 500 5.21 X 10° mm
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El, = 0.25E..I; = 3.57 x 103
n?.Ele  m?x3.57 x 10"

P. = = = 14049 KN
© 7 (K.Ly)? (1 x 5000)2
5, = n__ - L =1.49
b 1P Bl 13000 -
on. P, 0.65 X 14049

Mpin = P,. (15 + 0.03h) = 3000(15 + 0.03 X 500) x 103 = 90 KN.m
Mpn = 90 KN.m < M, = 290 KN.m
M. =68,.M, = 1.49 x 290 = 432 KN.m

B, 3000 x 103
= = 0.67
0o fob B 0.6 X 30 X 5002
M, 432 % 106
= 0.19

0o fob.h2 0.6 x 21 X 5003
h—2d_500—2><50_08

V=" 500
sh o kel (108 SV 5 6 b s
Yy =0.8 up = 0.44
_ I _
p=-t=222
p =0.02
As = p.b.h = 0.02 X 5002 = 5000 mm?

ey A0
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i Wp=20 N/m
=t WL =30 N/m
TR JyEi ERRE 350 350 mm sl i
300% 400 mm slel b a5
S5m 2
f. =28 N/mm
y 3 c f, = 400 N/mm®
4m ‘ 6m
SIS 5 P, (KN) My, (KN.m) | My (KN.m)
1.25D+1.5L 190 45 106
D+12L 152 36 85
1.2E 10.12 50.5 36
0.85D 46 11 26
Azl o oo Sl gla @ jie O Cgr o b Oles ¥
BE s AD (lgsm 53 gosome slos s 5T mls
SIE S 5 S Soe S s Coe S
AD (KN) BE (KN)
1.25D+1.5L 106 404
D+12L+12E 67 331
085D+ 12E 7.4 106
e
SIS oS 5 53 CF o5 jI0T s
SISy P, (KN) My, (KN.m) | My (KN.m)
1.25D+1.5L 190 45 106
D+12L+12E 162.12 86.5 121
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1
I, = 0.35 x (E X 300 x 4003) = 5.6 X 108 mm*

1
I, = 0.35 X% <E X 3504> = 8.75 X 108 mm*
Y, =10 ,is,8 sl

I 875x108
_2()  —sp00

V= sy~ 56X 10° =188
L’ 76000
vp=v, =1
I, 875x10°
_2@ _ 75000 _ e
¥p sy 56x108 T
L’ 74000
v = 0.75
:CF O g
1.88+1
Wy =5 — = 144
y, <2 K=(1-005y_). [1+y =145
L, = 5000 — 200 = 4800 mm
r =0.3h = 0.3 x 350 = 105 mm
K.L, _145x4800 . .
r 105
K.L,
= 66.3 > 22
r
Ll 2N O gt
U=1.25D+1.5L sl b oS 5

(‘;}: Lg)‘*‘fjb)sf;@w;jbjs ov\..:l)l..@.dd}lwdl}- u’.'.‘JJ
M, = 106 KN.m
M, = P,.(15 + 0.03R) = 190(15 + 0.03 x 350) x 1073 = 4.85 < 106

By, e
Cm = 0.6+ 0.4(1) > 0.4 .
2
Cp, = 0.6+ 0.4 (— %) =043 > 0.4 N

El, = 0.25El,
E. = 5000,/f. = 26458 N/mm? \J
El, = 0.25E.l, = 0.25 X 26458 x 1.25 x 10° = 8.27 x 10'2 N. mm? 4s
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b m2. El, m? X 8.27 x 102 10-3 = 3543 KN
= = X =
(K. Ly)? (1 X 4800)2
5 = Cn _ 0.899 — 047 < 1.0
L R T Rt
0.65 X P. 0.65 x (3543)
51) = 1.0
M, =6,.M, =1.0x 106 =106 KN.m
P, =190 KN
M, =106 KN.m

AT o ey 0 Hlgn OB sl
M, = My + 8s. M
Z P, =102.12 + 67 + 331 = 560.12 KN

12, El,
p=——°

(K. Ly)?
El, = 0.25Elg

2 12

e K=145 P.= % x 1073 = 1685 KN
55 BE: K=1.31  P.=2064KN
5 5n AD: K=1.38 P, =1860KN

Z P. = 1685 + 2064 + 1860 = 5609 KN

8 = ! = ! =1.18
*T,_ ¥R | __se0iz
0.65 X Y. P, 0.65 X (5609)

Mpin = P,. (15 + 0.03h) = 162.12(15 + 0.03 x 350) X 1073 = 4.13

Mp =36 +1.18 X 50.15 = 95.18 KN.m
M; =85+ 118 x36 = 12748 KN.m

B, =162.12 KN
M. =12748 KN.m

T o Sy o2 jlen SB slie 5 G
MC = Mb + 6S'MS
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Z P, =56.12 + 7.4+ 106 = 169.52 KN
2 P. = 5609 KN

8 = ! = ! = 1.05
T, ¥R | __ 16952~
0.65 X Y. P, 0.65 X (5609)

M,in = P,. (15 + 0.03h) = 56.12(15 + 0.03 X 350) x 1073 = 1.43 KN.m

Mp =11+ 1.05x 50.5 = 64.02 KN.m
My =26+ 1.05%X 36 =63.8KN.m

P, = 56.12 KN
M, = 64.02 KN.m

U=D+1.2L+1.2E ()l

35 35
= =139.4

p \/162.12 X 103
7.4 21 x 3502

139.4 > 45.71 L5l e S 3 g ST Ol

U=0.85D+1.2E (L

35 35
= = 236.97

56.12 X 103
by 21 X 3502
o Ay

236.97 > 45.71 L5l e S 3 g ST Ol

U=1.25D+1.5L @ A& )L cow Sl [l J 28

! >1.0
12k T
0.65 X 3. P,

ZPu =190 + 106 + 404 = 700 KN

Os =
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Z P. = 1685 + 2064 + 1860 = 5609 KN

=1.24<25

AL g0 DB (e i 4 5L g s e ) (il JWT L BLS

‘/

e D+ 12L+12E 138, S 5 oS J 28

s = 1 B 1
ST, __ YR, _ 700
0.65 X Y. P, 0.65 X (5609)
I- B,=190KN , M, =106 KN.m
2- P, =162.12KN , M, = 12748 KN.m
3- B, =56.12KN , M, =64.02KN.m
P, 162.12 x 103
= = 0.105
fog-b.h 0.6 x 21 x 3502
M, 162.12 x 103
= = 0.236
foq-b.h? 0.6 x 21 x 3503
_h—2d 071
y - h - .

S5 s ses 5 up = 0.84

fy
u=->2=3175
fcd
p =0.026

Pmin = P = PMax

A, = p.b.h = 0.026 x 3502 = 3185 mm?

use 16016
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L, = 5000 mm
r =150 mm
Ly
—~£=33.3<80
r
a;ukg\;,u'\\{o}:,ﬁ
M 290 _ oy
=P 3000 """
¢ 7 0.19 > 0.1 R=1.0 0008L”<1
h~ 500 r =
R =1.07 — 0.008 x 33.3 = 0.8

ksl
& Ik Al R Oles 5 g8 bl 2 O g 5 0k ol B8 2 2 (2l (e Olor 5 (S0 e (9,50 )l

5
~ 3000

Pu W= 3750 KN

M, =220 _ 363 kN
u= 08 " -
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S eslal 3 hgy 5l Ol8 ge AL
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=078+ 022y =1
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